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& I8 No. K% & a8 24 L ikl
1 13 Fith #5K FRIEESHK 34 2.30.199 CR
2 14 Zgith H%L INEBR R 21 2.31.568

3 18 1t ¥ RIEHZER 13 2.34.100

4 19 K ¥ AXZTH/ 8 2.34.249

5 15 #EB Ca7z +BEF EiRhER 5 2.34574
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RIS 1 13 %M #K RIS’ 1 1 34 2.30.199
2 14 Fith HA%L INBR R 2 2 2 2.31.568
3 184E % R 3 3 13 2.34.100
4 19 KE ¥ ARZTH/ 2 4 8 2.34.249
5 1588 Tav uEF BRPER 3 5 5 2.34.574
6 17 WiH EBEF INTFRERER 6 6 3 2.42.861
7 16 5RE FK B R 1 7 2 2.51.526

& 8 25 /NE EE ARXZTH) 4 2.54.562
9 23 I/NE =F ARXZTH) 4 2.54.658
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11 24 fjiZ &BF ARXZTH) 5 2.55.920
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2 181tE % RIEFER 2 2 2 50.345
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4 13 Fith K RIS’ 1 4 8 47.476
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3 184E % R 2 Penaly 1.40.644

4 158 a7 rrEF T ER 2 Penalty 1.43.045
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6 17 WiH EBEF INTFRERER 3 1.44.935
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4 15 #EB Ta7 rBEF B hER 8 5.27.920
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6 17 WWiE BEF INTFFREFER 3 5.51.979

7 16 EREZE FK B ER 2 6.38.552



BR IESIFE (S IESL)
(a—kboYoRE )

FIARRHF R a— IV IRE—RF Ry —NEFIEFTILRE

IEfZ No K4 E BE SF ELs s=Es = iRk (1500m (p)500m (p)1000m (p)3000m {3
1 13 &t #/K FiRIEKR 110 1 6 1230199 (BH1 (84 (31 (34)1
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4 15 WE Ta7oFEF mRHhER 26 4 12 3 234574 (55 (13)3 4 (8)4
5 19 K¥ ¥# ARXZITH/ 13 5 14 4 234249 (8)4 5 5 (55
6 Wil B+ INTFRERER 6 6 18 6 242861 (3)6 6 6 (3)6
7 16 5RE FK AR PR 4 7 21 7 251526 (2)7 7 7 7
8 25 /NE EE ARXZTH/ 8 8 2.54.562 8

9 23/NE =F ARXZTH/ 9 9 254658 9

10 20/h0O #£E BARAKBKXRE 10 10 2.55.625 10

11 24 8RIZ BF ARXZTH/ 11 11 2.55.920 11
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3 4  Fith XK B ER 13 2.29.255
4 3 Hith H¥E EH P ER 8 2.29.433
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3 4 Gith FHK R 2 3 13 2.29.255
4 3Gt BE R 2 4 8 2.29.022
5 5 ZGith jhE B R 3 5 5 2.30.884
6 6 2RZE R R 3 6 3 2.29.066

FiE 7 TERE RE B R 4 2.34.287
8 8 BEF 1EXER TIREA R 4 2.48.756
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1 12 #% BFE () FEOYD 6 2.38.221

Loxl)—

C-RXRFaT7—F




NR BRI (52 E5D
(Ta—rrov o)

F14RIEFH RS a—rSYIRAE—RF Ry —MEFEFDILAE ER22910816H
BEFIE B+ 500m
Iﬁ%
148
& I8 No. K% & a8 24 L ikl
1 1 WA KB INBER 34 45.921
2 2 AT B INBER 21 46.201
3 4  Fith XK B ER 13 46.747
4 5 it & EH P ER 8 48.016
FI4RIEHFEL 3 —r SO RAE—R R —MEFEFDILAES Tri224E10816 8
E FiE %? 500m
FiE 2 LEhioE&EH
148
& No. K% FiiE Ba BAL EE
1 2 AT = INBER 45575 Q
2 4  Fith X B PR 47.006 Q
3 6 ER=ZE R B PR 47.072
4 7T BREE B PR 50.381
24
&8 No. K% E g5 24 L BE=E
1 1 WiiE KBF INBER 47.050 Q
2 5 Zith E B PR 48.146 Q
3 3 Hith HE B R 48.235
4 8 A EKXER THmEF P ER 51.326
5 9 INER BE FERBRT—MEE 1.03.483



N BRI (FERHE R IE L)
(a—rbov IR )

FRRFR 3 —IvIRE—RFRT—MEFEFTILRE

BEFIE B+ 500m

592K B No K% il B FP BX = BO BX BE
RIS 1 1 WiE KBF INBER 1 1 34 45.921
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3 4 Gith FHK R 2 3 13 46.747

4 5 ZGith hE R 2 4 8 48.016
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RIS 1 1 WiE KBF INBER 1 1 34 1.30.823

2 25T B INBER 1T 2 21 1.31.084

3 4 Gith FHK R 2 3 13 1.36.889

4 5 ZGith hE R 2 4 8 1.41.446
FiE 5 6 2RZE R B R 3 1.40.246

6 3Gt BE R 3 1.41.807

7 1TERE E B R 4 1.41.203
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4 5 ZGith hE AR PR 42 2 13 4 230884 (55 (84 (84 (21)2
5 3 &M BE AR PR 8 5 16 4 229022 (8)4 6 6 5
6 6 EREZE R AR PR 3 5 16 5 229066 (3)6 5 5 5
7 11 B wME)|KE 9 9 2.36.545 9
8 12 % A& () FEOYD 11 11 2.38.221 11
9 TERE E AR PR 21 7 2.34.287 7 7 7
10 8 &F EXER TREAPER 24 8 2.48.756 8 8 8

9/NER BE FHEBRT—MEE 4.09.883 10 9
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